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Vdocityandaccelerationinintrinsiccomponents
majorformulas p

teensvT=a¥{IeHB=t"¥'oftenaj=÷op=°sHE+fY¥I
11711=54 ) =D eI=vf= , # if

examples. at a certain instant the velocity and

acceleration vectors of a particle are

Fp= 4h - 3f m/s

Ip =

-10=201+121
m/s2

Find :@ #{11+11}=05@ the normal vector In
- T= set

@ E. = Ft ,

,T=¥(

4e.3jyaFECs@tIfeQ.e
,

jet . Et = 's

5 = E. It = floe +20g +12k ) . ⇐ (41-35)
-

=f4O£6°)_ = -20M¥

@ ¥ en = a- - sent = (-101+2%+1212) - t¥)(4e -3g )
= Get 8g +121=8

En = §= # §= a.gl#C6et8ftRF )



Question find a general expression For

lhtxall
resent -

E-isettFEnvxa-CseitxCsiEtFen.tsettxCsienlesksieIxcEens-sisexeItsIEtxen-Ijetxen11vxa1KlsfI-1MI-ttEin2DEgnivalentlyp-1FT31lJxal1example_Akugmovesalougauelipticalpathataconstawtspeed@isnYIaegoadgowkqYIAoOasQeianO.A
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examples . an unnamed company track a car and
find that v. =4tt3f

a-

=2TWhat are @ Et
,
du and p

Q Iaeteh
the

cartoony
@ Is the car speeding up or slowing down?

Party net : ot=se+ =D

eI=rf=¥(4et3f)a

I : new a- = sent # En

We Knew that Etten so there are two

possibilities for Eu : either ¥(3e - 4g ) or stated

We know that eioen > 0 so e^n=¥f3e+4g )
since ( zj ) . Cts ( →a+4j ) )=95=5-2FIGf. a +85g )

-
P

g- : is = # 11=5 =D 5¥ = 8,5 =D f=R¥

-

. .

@ :#i ^

I.tv#az.i@ speedily up or slowing down ?

Lets compute sina.net =D zj . Hsl 4et3jD=6±

speedily E. To CHEEK .



example : A particle D moves along a curve with

soft )= Gt Mls ,
with SGKO

.

At a certain point in time t
, ,

the

magnitudeof the acceleration vector is

#
and

f- 3cm
.

What is t
, ? SG )=o

sH)=6t
E. = sent + Fei silt )=6

p= 3lL%H=sz+sjtT
=Dz= gz+

( at ,
)4

cz ) = ,
and so we get

-4=0.93 Sec

-


